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%\ WKH�LPSOHPHQWDWLRQ�RI LQWHJUDWHG�ULVN PDQDJHPHQW V\VWHPV�EDVHG�RQ�,62�������
LV� H[SHFWHG� WKDW�37��%06,¶V� SODQW DEOH� WR�PDQDJH� WKH� FXUUHQW� ULVNV� DQG�ZLOO� FRPH�
HIIHFWLYHO\� DQG� HIILFLHQWO\� EDVHG� RQ� H[LVWLQJ� UHVRXUFHV� WR� VXSSRUW� WKH� YLVLRQ� DQG�
PLVVLRQ�DV�ZHOO�DV�WKH�DFKLHYHPHQW�RI VWUDWHJLF�REMHFWLYHV�RI 37�%06,��$SSOLHG�ULVN
PDQDJHPHQW V\VWHP� LV� RSHUDWLRQDO� ULVN PDQDJHPHQW LQ� ZKLFK� RSHUDWLRQDO� ULVN LV�
LQKHUHQW� LQ� WKH� DFWLYLW\� DW� WKH� IDFWRU\� DQG� FDQ� KDYH� DQ� LPSDFW� RQ� RWKHU� ULVNV�� 7KH�
RSHUDWLRQDO� ULVN PDQDJHPHQW DSSOLFDWLRQ� FDQ� RQO\� JR� ZHOO� DQG� DV� H[SHFWHG� ZKHQ�
JHWWLQJ� WKH� FRPPLWPHQW� DQG� VXSSRUW� RI DOO� SDUWLHV�� HVSHFLDOO\� WKH� OHDGHUVKLS� RI WKH�
FRPSDQ\
V�PDQDJHPHQW�

.H\ZRUGV�� LPSOHPHQWDWLRQ��RSHUDWLRQDO�ULVN PDQDJHPHQW��FRPPLWPHQW�DQG�VXSSRUW��

VWUDWHJLF�REMHFWLYHV�RI 37�%06,

$%675$.
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'HQJDQ� SHQHUDSDQ VLVWHP PDQDMHPHQ� ULVLNR� EHUEDVLV� ,62� ������ VHFDUD�
WHULQWHJUDVL� GLKDUDSNDQ� SDEULN� 37�� %06,�PDPSX�PHQJHOROD� ULVLNR�ULVLNR� \DQJ� DGD�
VDDW�LQL�GDQ�DNDQ�GDWDQJ�VHFDUD�HIHNWLI�GDQ�HILVLHQ�EHUGDVDUNDQ�VXPEHU�GD\D�\DQJ�
DGD� XQWXN� PHQXQMDQJ� YLVL� GDQ� PLVL� VHUWD� WHUFDSDLQ\D� WXMXDQ� VWUDWHJLV� 37� %06,��
6LVWHP�PDQDMHPHQ� ULVLNR� \DQJ�GLWHUDSNDQ�DGDODK�PDQDMHPHQ� ULVLNR� RSHUDVLRQDO�GL�
PDQD� ULVLNR� RSHUDVLRQDO� VDQJDW� PHOHNDW� SDGD� DNWLILWDV� GL� SDEULN� GDQ� GDSDW�
EHUGDPSDN�SDGD� ULVLNR�ULVLNR� ODLQQ\D� 3HQHUDSDQ�PDQDMHPHQ� ULVLNR�RSHUDVLRQDO� LQL�
KDQ\D� GDSDW� EHUMDODQ� GHQJDQ� EDLN� GDQ� VHVXDL� GHQJDQ� \DQJ� GLKDUDSNDQ� ELOD�
PHQGDSDWNDQ� NRPLWPHQ� GDQ� GXNXQJDQ� GDUL� VHPXD� SLKDN� NKXVXVQ\D� SLPSLQDQ�
PDQDMHPHQ�SHUXVDKDDQ�

.DWD� NXQFL�� SHQHUDSDQ�� PDQDMHPHQ� ULVLNR� RSHUDVLRQDO�� NRPLWPHQ� GDQ� GXNXQJDQ��
WXMXDQ�VWUDWHJLV�37�%06,


